

Addends of 1

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 1$$

Addends of 2

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 2$$

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 2$$

Addends of 3

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 3$$

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 3$$

Addends of 4

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 4$$

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 4$$

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 4$$

Addends of 5

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 5$$

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 5$$

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 5$$

Addends of 6

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 6$$

Addends of 7

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 7$$

Addends of 8

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 8$$

Addends of 9

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 9$$

Addends of 10

$$\underline{\hspace{2cm}} + \underline{\hspace{2cm}} = 10$$

Doubles

$$0 + 0 = \underline{\hspace{2cm}}$$

$$1 + 1 = \underline{\hspace{2cm}}$$

$$2 + 2 = \underline{\hspace{2cm}}$$

$$3 + 3 = \underline{\hspace{2cm}}$$

$$4 + 4 = \underline{\hspace{2cm}}$$

$$5 + 5 = \underline{\hspace{2cm}}$$

$$6 + 6 = \underline{\hspace{2cm}}$$

$$7 + 7 = \underline{\hspace{2cm}}$$

$$8 + 8 = \underline{\hspace{2cm}}$$

$$9 + 9 = \underline{\hspace{2cm}}$$

Doubles

$$8 + 8 = \underline{\hspace{2cm}}$$

$$1 + 1 = \underline{\hspace{2cm}}$$

$$6 + 6 = \underline{\hspace{2cm}}$$

$$3 + 3 = \underline{\hspace{2cm}}$$

$$9 + 9 = \underline{\hspace{2cm}}$$

$$5 + 5 = \underline{\hspace{2cm}}$$

$$0 + 0 = \underline{\hspace{2cm}}$$

$$7 + 7 = \underline{\hspace{2cm}}$$

$$2 + 2 = \underline{\hspace{2cm}}$$

$$4 + 4 = \underline{\hspace{2cm}}$$

Changing the order of addends

$8 + 3 = \underline{\quad}$

$3 + 8 = \underline{\quad}$

$6 + 4 = \underline{\quad}$

$4 + 6 = \underline{\quad}$

$9 + 1 = \underline{\quad}$

$1 + 9 = \underline{\quad}$

$3 + 6 = \underline{\quad}$

$6 + 3 = \underline{\quad}$

Changing the order of addends

$2 + 4 = \underline{\quad}$

$4 + 2 = \underline{\quad}$

$5 + 8 = \underline{\quad}$

$8 + 5 = \underline{\quad}$

$3 + 7 = \underline{\quad}$

$7 + 3 = \underline{\quad}$

$6 + 5 = \underline{\quad}$

$5 + 6 = \underline{\quad}$

Changing the order of addends

$2 + 3 = \underline{\quad}$

$3 + 2 = \underline{\quad}$

$9 + 8 = \underline{\quad}$

$8 + 9 = \underline{\quad}$

$4 + 8 = \underline{\quad}$

$8 + 4 = \underline{\quad}$

$7 + 6 = \underline{\quad}$

$6 + 7 = \underline{\quad}$

Changing the order of addends

$1 + 3 = \underline{\quad}$

$3 + 1 = \underline{\quad}$

$6 + 2 = \underline{\quad}$

$2 + 6 = \underline{\quad}$

$4 + 5 = \underline{\quad}$

$5 + 4 = \underline{\quad}$

$6 + 3 = \underline{\quad}$

$3 + 6 = \underline{\quad}$

Parentheses

$$4 + 8 + 3 = \underline{\quad}$$

$$4 + (8 + 3) = 4 + \underline{\quad}$$

$$= \underline{\quad}$$

$$3 + 6 + 4 = \underline{\quad}$$

$$(3 + 6) + 4 = \underline{\quad} + 4$$

$$= \underline{\quad}$$

Parentheses

$$5 + 9 + 2 = \underline{\quad}$$

$$5 + (9 + 2) = 5 + \underline{\quad}$$

$$= \underline{\quad}$$

$$4 + 7 + 4 = \underline{\quad}$$

$$(4 + 7) + 4 = \underline{\quad} + 4$$

$$= \underline{\quad}$$

Parentheses

$$1 + 5 + 5 = \underline{\quad}$$

$$1 + (5 + 5) = 1 + \underline{\quad}$$

$$= \underline{\quad}$$

$$8 + 3 + 5 = \underline{\quad}$$

$$(8 + 3) + 5 = \underline{\quad} + 5$$

$$= \underline{\quad}$$

Parentheses

$$6 + 6 + 3 = \underline{\quad}$$

$$6 + (6 + 3) = 6 + \underline{\quad}$$

$$= \underline{\quad}$$

$$3 + 6 + 4 = \underline{\quad}$$

$$(3 + 6) + 4 = \underline{\quad} + 4$$

$$= \underline{\quad}$$

Parentheses

$$9 + 2 + 6 = \underline{\quad}$$

$$9 + (2 + 6) = 9 + \underline{\quad}$$
$$= \underline{\quad}$$

$$9 + 4 + 2 = \underline{\quad}$$

$$9 + (4 + 2) = 9 + \underline{\quad}$$
$$= \underline{\quad}$$

Parentheses

$$4 + 1 + 8 = \underline{\quad}$$

$$4 + (1 + 8) = 4 + \underline{\quad}$$
$$= \underline{\quad}$$

$$2 + 6 + 3 = \underline{\quad}$$

$$2 + (6 + 3) = 2 + \underline{\quad}$$
$$= \underline{\quad}$$

Parentheses

$$3 + 4 + 5 = \underline{\quad}$$

$$3 + (4 + 5) = 3 + \underline{\quad}$$
$$= \underline{\quad}$$

$$2 + 8 + 2 = \underline{\quad}$$

$$2 + (8 + 2) = 2 + \underline{\quad}$$
$$= \underline{\quad}$$

Parentheses

$$8 + 4 + 6 = \underline{\quad}$$

$$8 + (4 + 6) = 8 + \underline{\quad}$$
$$= \underline{\quad}$$

$$9 + 4 + 2 = \underline{\quad}$$

$$9 + (4 + 2) = 9 + \underline{\quad}$$
$$= \underline{\quad}$$

Addends greater than 10

$38 + 23 = \underline{\quad}$

$44 + 23 = \underline{\quad}$

$16 + 24 = \underline{\quad}$

$65 + 26 = \underline{\quad}$

$59 + 31 = \underline{\quad}$

$22 + 49 = \underline{\quad}$

$43 + 46 = \underline{\quad}$

Addends greater than 10

$43 + 56 = \underline{\quad}$

$65 + 16 = \underline{\quad}$

$73 + 18 = \underline{\quad}$

$36 + 28 = \underline{\quad}$

$25 + 19 = \underline{\quad}$

$39 + 29 = \underline{\quad}$

$37 + 38 = \underline{\quad}$

Addends greater than 10

$18 + 27 = \underline{\quad}$

$33 + 47 = \underline{\quad}$

$33 + 39 = \underline{\quad}$

$74 + 18 = \underline{\quad}$

$45 + 19 = \underline{\quad}$

$44 + 27 = \underline{\quad}$

Addends greater than 10

$43 + 29 = \underline{\quad}$

$26 + 56 = \underline{\quad}$

$38 + 39 = \underline{\quad}$

$12 + 18 = \underline{\quad}$

$34 + 48 = \underline{\quad}$

$22 + 27 = \underline{\quad}$